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Radiation of
Electromagnetic

Waves

Heinrich Hertz - 1888
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The English mathematical physicist, Sir. Oliver
Heaviside, said in 1891, "Three years ago,
electromagnetic waves were nowhere. Shortly

afterward, they were everywhere."
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Quiz Question

Apply the classical theory for Hertzian dipole
radiation on an atomic scale. That is, suppose
po = € d where d = 1019 m; and suppose ho = A
where A=10 eV =10 x 1.6x1019 J. Then:

(A) Calculate the classical radiated power, P, ,
in eV/s.

(B) Estimate the classical lifetime of the
radiation process.

7i=1.055x 10734 Js




